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g2 J1= - N
ol 28 Jis Z& (EEREED
224 - Z . G(S) - NRAY - BES Ofl ko i Bzt
ORFE MME Jlgt 28 2= 8,000
405 RhakF S| 6,000 14,000 8,000
01 At ESF =4I 6,000 14,000 8,000
OSAME AL 25 6,000
JEAIZT0ICIHAE X =& (FHAEXE) 516,300 507,600 8,700
306 EA= 516,300 507,600 8,700
01 &= 516,300 507,600 8,700
OZHAIEXIOICIOE 2 X 516,300
2 X 246,498 408,800 ~162,302
dE2 Nl 2g 16,678 76,350 N59,672
201 Zet2a| 7,500 30,500 23,000
01 AlR2telHl 4,000 23,500 219,500
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OVIR 28 ¥ BHIZAAH |SA2A2] S 2,000
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OVIREHI & Sa&dl 22l &+l 3,500
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01 2LHO 400 850 450
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405 RhakF S| 8,778 45,000 N36,222
01 AL ESF =4I 8,778 45,000 N3B,222
OAtN 2 & HEEH 2 8,778
HE2EL I 160,820 160,750 70
201 Ler=g| 131,000 131,000
01 AtR2telHl 125,000 125,000
OFd 82 MM & 4T MH 11,000
OodgZe 0w MHIA 012 54,000
OmAE2lE MHIA 0182 60,000
02 5234l 6,000 6,000 0
OZd8E oW & Aot= MBIA 0182 6,000
202 Ot 29,820 29,750 70
01 2LHAHI 29,820 29,750 70
OFLEAL FHIHXIH 29,750
OSRA =3tAL 20 X2 70
CHER ¢ g =& 69,000 65,000 4,000
203 AR=2| 69,000 65,000 4,000
03 A= H R 69,000 65,000 4,000
ox=g&= =& 22,500
oug=s =& 22,500
o=l 88 =8 24,000
Y 2AZHI(THEQ) 102,325 106, 164 13,839
] 40,955 38,792 2,163
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Jl=2dsl 61,370 67,372 26,002
FNE2E Jl=3HI 61,370 67,372 26,002
201 2EH=2E| 41,150 45,832 N4,682
01 At22t2IH] 41,150 45,832 N\4,682
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202 O 8,640 9,720 A1,080
01 204 8,640 9,720 1,080
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